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1. . qﬁ,fmzow’ﬁ_v%,?h

Jx+20-Jx-1 3

0 ) .
b.4 —20_\[2(I}+J20+J20+,J20+...3ﬂ?!‘E (x+20)(x-1 mmm%?
%, x e sy 2 2 @ 8

b 9
(a) 4 ®)

() 10
(b) 5

d 12
© 5
d 2v5 S 5. (x8-y8) 3 (x7 —y7 + xBy2 — x2y5) T HCF T

27
(a) (x2+y?)

2. aR 2Pt gL} A fmfifa| B G2-y)
b+c d+a

8 aRaad §?

(e) (x3-y3 - x2y +xy?)
(dy  (x3-y3+x2y —xy?)
(a) a+b=c+d

6. A Gl x2 - 14x + k = 0 F e & N A

(b) a+c=b+d
ATHA 1008, A kF AT T2 ?
(¢) a-b-c+d=0
(a) 42
d b =
d) a+b+c+d=0 b) 48
(e) 52
(d) 56

3. AR (a3 + bd), (a2 - b F WAUE B, @
(az—ab+b2)ﬁ-n'€§¥¥!'q13‘:ﬂ?ﬁ%? 7. TR x2 + px + q 3 x2 + gx + p F HCF
x+k)B, T& prq?, MkF AT TR ?

(a) (a-b)

(a) -1
(b) (a+h)

(b) 0
() (a+ab+bh)

(c) 1
@ (@3 -bd 2

(d) 1
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1. If 4,

x?-20= Jzo + Jzo +/20+ /20 + . infinite terms,

then what is x equal to ?

(a) 4
(b) &
© 5
5.
d 245
2. If a+bh =& d where a # ¢, then which one
b+e d+a
of the following is correct ?
(a) a+b=c+d 6.

(b) a+c=b+d
(¢} a-b-c+d=0

(d) a+b+c+d=0

3. If (a® + b3) is proportional to (a2 — b2), then|7:
(a2 - ab + b?) is proportional to

(a) (a-b)
(by (a+h)

(c) (a+ab+h)

(d (a®-bI
FDGT-T-EMT (3-A)

,{x+20+ X -
1Jx+2 -,/ -

value of J(x +20)(x-1) ?

T

, then what is the

(a) 8
(b) 9
() 10
(d) 12

What is the HCF of (x8-y8) and
(xT-y7 + x5y2 ~ x2y5) ?

(a) (x2+y2)

(b) (x2-y?)

€0 (XB-y3-x2y+xy?)

(d)  (x3-y3 + x2y —xy2)

If the sum of the squares of the roots of the

equation x2 ~ 14x + k = 0 is 100, then what is
the value of k ?

(a) 42
(b)y 48
() 52
(d) 56

If (x + k) is the HCF of x2 + px + q and
x2 + gx + p, where p # q, then what is the

value of k ?
(a) -1
(b) 0

1
[C) E
d 1
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8. Uk wEw A | wE v & TR # 9|11, Fi=fafes e w fen it
wen ¥ fonfsm fen s, @ vy 6 @
AN w6 B | IR B FEw F ulE

1L x{(y-2)+ytz-x) + 2z (x — y) €T 2

# w3 wew @ fonfim fen a, @ e 2 I’ '
B S et 3 7 | ST wEme & o W xeyoE
TR ? |
(a) 8 2. x*(y-2) +ytz-x) +24(x - y) FOTHS
B 9 . | 2R x<y<z? |
o i o § & B b 2
d 12
9. Fafafgs sl w forem Hifd (a) %9 1

1. a2(b-c3 + b2(c - a) + cZ(a — b & (b) HaA 2 -

TGS (ab+be +ca)® |
2, ag{b-c)3+b2(c_a)3+c2(a_b}3qﬂ (c) laﬂ-{za};ﬁ

T (a+h [

TrES ach o (d T 1,Td2
I FoFl § @ PR 56 3R 2
(a) Fad 1
(b) ad 2
(¢) 13 2amt
@ AdL7®2 ‘

6 _oqud 2
. . PR Sl Sht L. SE > E ST

10, + + (x2 + 443x + 12)(x - 24/3)2
Xx(x-y)x-2) yly-ziy-x)
B 9
z{z-x)z-y) @ x
formes sme B 2
by x2-2
(a) O
by 1 () x2+ 2J§
© -
e d) x2-23
@ --=
Xyz
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8.  If three times the greater of two numbers is|[11. Consider the following statements :
divided by the smaller number, the quotient
will be 6 and the remainder will be 6. If five 1L x4(y-2+y*z-%+2¢x-y) is
times the smaller number is divided by the
greater number, the quotient will be 2 and the
remainder will be 3. What is the difference

positive if x > y > z,

between the numbers ? 2. xy-2+ytz-x)+2¢(x-y) is
(a) 8 negative ifx <y < z.
(b) 9
Which of the above statements is/are correct ?
(e} 10
d 12 (a) Only1
9.  Consider the following statements : (b) Only2

1. (ab + bc + ca) is a factor of N
Both 1 and 2
a2(b-c)® + b2 (c—a)3 + ¢ (a — b)’. © an

2. (a+b+¢) is a  factor  of (d) Neither 1 nor 2
a?(b-c)3 +b2(c-2a)+c2(a-b)3

Which of the statements given above is/are

correct ?
(a) Onlyl
(b) Only2 6 94,4 2
Y 12, What is — > 2% +1d& - equal
(¢) Both1and?2 (x2 + 44/3x + 12)(x - 243)
(d) Neither 1 nor 2 to?
10. What is
1 1 (a) x2
+
x(x-ylx-2z) y{y -z)Xy - x)
1 (b) x2-2
z2(z-x)z-y)
equal to ?
2
@ o0 © x+2/3
(b) 1
1 (d) X2 - 2'\/5
(c) —
XyZ.
@ -
XyZ
FDGT-T-EMT (5-A)
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18. X 3t v et 39 5 s 45 Tt ait 40 &

14,

15,

FDGT-T-EMT

AU R EH 8 | 4 0 a1 FH IE FW §
afe X, o fedt & g w7 org 2 2 e v 9w
% #1 23 oAl & qu Fw@n & | o fFEE O
27

(a) 8

b 9

(e) , 10

(d)y 12

10 T2 9fefem ™ =0 W 480 =fF T
w& ® 10 feAi § @ § | 8 W wfafe Fm
FE W, T T g HE R 20 fA T @ w0
% fou feaa afofe =frdl #1 i =@
F IR 8 ?

(a) 400
(b) 420
(e} 480

(d) 500

12 Hfgen ait 16 geu foreft = &t 5 T & qu
& Hhd § | 13 Afen 3R 24 qev T wE @
4 f@ 4 @@ = gwd § | 25 ufgemadl ok
50 TEl I 30 HE B W FA A fhan @
W 2

(a) 1f@

by 2f@

© 3fm

@ 4fm

16. QA RYH X AN Y, 1320 km R A W ¥ | T

17,

(6-A)

T RIF X ¥ 6 am. WA T& FA 2
3 60 kmhr i 3fwd W@ ¥ Id R |
2 pm. W ZEG @R Y ¥ X I 3N G970 &
Hl & 3R 80 km/hr I Iitga =T ¥ T
2 13 Fa fieih 2

(a) 6pm
(b) Tpm
(¢} 8pam
(d 9pm
AU e I 31 e Yewigier ot ot &

fasor @ sme: 3 : 2 3 4 ;1 F oFuE A W
I & | 3 T # w fw e § gt
foran e # 1 e fieme # YeieTa oft R
1 T FAT EAT 2

(a) 5:4
(by 7:2
() 7:3
d 7:4
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13. Xand Y can do a piece of work in 45 days and
40 days respectively. They begin to work
together, but X leaves after n days and then Y
completes the remaining work in 23 days.
What is n equal to ?

(a) 8
(b) 9
(c) 10
(d) 12

14. . 480 persons working 10 hours per day
complete one-fourth of a work in 10 days. How
many additional persons are to be employed in
order to complete the remaining work in
20 days, working 8 hours per day ?

(a) 400
(b) 420
(c) 480
(d) 500

15. 12 women and 16 men can do a piece of work
in 5 days. 13 women and 24 men can do it in
4 days. How long will 25 women and 50 men
take to do it ?

(a) 1day
(b) 2days
(¢} 3days
(d) 4 days
FDGT-T-EMT

16.

17i

(7-A)

There are two stations X and Y, 1320 km
apart. A train starts from station X at 6 a.m.
and moves at an average speed of 60 km/hr. At

2 p.m. another train starts from Y towards X

" and moves at an average speed of 80 km/hr.

When do they meet ?
(a)  6pm.
(by 7 pm,
(¢) 8pm
(d) 9pm

Two glasses of equal volume are filled with a
mixture of alcohol and water in the ratio 3 ; 2
and 4:1, respectively. These glasses are
emptied into a third glass. What is the ratio of

alcohol and water in the third glass ?

‘Ea) 5:4

by 7T:2
(e 7:3
(dy 7:4
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3 6 9 27
2:@5252050

g a i i vmmadi R 2

F1 HCF, x 8 3 LCM, y

(a) y=90x

(b) y=180x
(¢) y=270x

(d) y=360x

19, xMy Qi sEd §, TEix >y 2 | 7@
x ® 68 fawfye forn S 2, T Swwd 2 s
2 3l 9 y B 6 ¥ fawfom femn wmen 2, @
el 3 o R 1 AR (x - y) F 6 & Fnnfrm
- frar e A Swe w1 B 2
(a) 1
(b) 3
e) b
d) vwd Fuffa T & s awa

20. 2-3HI Il UH T H M, JHi F ATHA
&1 57T B | I H AR 7R ?
(a) 15
® 18
(c) 20
d 27

FOGT-T-EMT

21.

22,

23.

(8-A)

(b

S N=126x38x53 W faum it |
frafofga wui § @ FRavER-a o 38 2
1. N fom prEs f e 60? |

2. N T0 UGSl I &1 720 R |

AR g e e 1 i A I IR
(a) % 1
(b) el 2
(¢) 13 23At
@ Td1,TE2
af I(Lgioca _ lzg_loab - lzgmbc (azbzeo) 8,
A abe F AH FTR ?
(@) -1
(b 0
() 1
d 3
afg ok a4 92 40 fire e R A e it ¢
MM grfam et
(a) 80°
100°
© 120°
(d) 220°
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18'

19,

20.

digits ?
(a) 15
(b) 18
() 20
d) 27
FDGT-T-EMT

" If x is the HCF and y is the LCM of
§,£,£,E, then which one of the
5 25 20 50

following is correct ?

(a) y=90x

(b) y=180x
(e} y=270x
(d)  y=2360x

There are two natural numbers x and y, where
x > y. When x is divided by 6, it leaves the
remainder 2 and; when y is divided by 6, it
leaves the remainder 3. What is the remainder

when (x - y) is divided by 6 ?

(a) 1
(b) 3
() b

(d) Remainder cannot be determined

The value of a 2-digit number is 5 times the
sum of the digits, What is the product of the

21b

22.

23.

(9-A)

Consider the number N = 126 x 38 x 53, Which

of the following statements is/are correct ?
1.  The number of odd factors of N is 60.
2. The number of even factors of N is 720.

Select the correct answer using the code given

below :
(a) Onlyl
(b) Only2

(c) Bothland?2

(d) Neither 1 nor 2
log.. ¢
If loglﬂa = loglﬂb = glU ,(a#ba c),
b-e¢ c-a a-b

then what is the value of abe ?

(a) -1
b 0
© 1
d) 3

What is the angle between the hour hand and
the minute hand of a clock when the clock

shows 4 hours 40 minutes ?

(a) 80°

(b) 100°
(e)  120°
(d) 220°
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24, AR 1ugm[995+,}x2—12x+60] =3% d

25.

|t o T H AT 1R 2
(a) 12
(b) 11
(e) . 10

dy 9

x & Tfafes ot & @ frad am wfte
qx2-2px+q=03:}f'{:i§2ﬁﬁ?

_Jp+a+p-gq
1. , STt
JPT_JT P>4q

p+yp-d°

q

vP+q &

, Gl p>q
P-q

1 fou ¢ Fe = v = I g
(a) I TH IH
(b) 9@ QUM
() @ft fF1 W=

2. «x= Wi p>gq

3. x=

@ W

26.

FDGT-T-EMT

o= s px) ='x* + x2 4+ 1,
q(:_:)=x4-—2x3+3x2—2x+1% | 72 px) 3tk
q(x) 1 GCD, x2 - x + 1 8, @ &1 LCM 1
27

(a) (C+x+1(x2-x+1)2
b)) x*+x2+12(x2-x+1)
(© (x¥+x24+1)x2+x+1)2

d) xt+x2+1x2-x+1)2

27. = for T w9 3k & woAt w f=w Fifw

28.

(10-A)

2.3 I T TEN B W TG F FH B
HEE-aEe (ITT) AT TS G F T A
2

¥ 2-3hi i qEw w2 2

FYLL: ATHA 9V W ¢ |

FYF2: INGA 2° 9T B |

g AR wE * owed d Fofafes & @
- wd R 2

(a) ;wwmﬁ%%q%ﬁaw-lm

(b) I N IW A F U Faw -2 Wi
2

(¢) W 1 IW A F fore Fo-1 3 Fomg,
gHI vt §

(d) YA & IW A F e FF.1 3R Fom-g,
QT At TdT &

fr= few e w¥a ok D oAl W fram A
3 v x 3R y B LOM 4818, @ x > y.

FH:  (3x-2y) AR TR ?

HEUF1: y>1,

FUE2: x AR yFTHCF 12 |

YA R FudEl F wed # fifafes § @

HHE-ATTE B 2

(a) TH & IW A + fou Faa F99-1 7aiw
2 )

(b) W F IW A F v Faa F94-2 @i
2

(¢) W9 & IR oA & fow .1 3t g,
2t gt §

(d) T H IW A F o FuA-1 3k wmg,
a1 e 7 &
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24, If log10[995+ Jx® -12x +60] = 3, then what|27.
is the sum of the roots of the equation ?
(a) 12
by 11
() 10
d) 9
25. How many of the following values of x would
satisfy the equation qx2 - 2px + q=0?
1 X= Pra+ p_q,wherepbq
P+q-yP—-q
2_ 2
2. :1:-11'+ P -1 ,Wherep > q
q
3. x= p+q,wherep>q
P-q
Select the correct answer using the code given | 28
below :
(a)  Only one value
(b)  Only two values
(c)  All three values
(d) None
26, Letpx)=x?+x2+1,
q(x) = x* - 2x3 + 3x2 - 2x + 1. If GCD of p(x)
and q(x) is x% — x + 1, then what is their LCM ?
() (x2+x+ 1(xZ-x+1)2
b x*+x2+1)2(x2-x+1)
(@) (xT+xZ+1)(x2+x+1)2
(d)  (x*+x2+ D(x2-x+1)2
FDGT-T-EMT (11-A)

Consider the question and two statements
given below :

A 2-digit number is addef'l to the number
formed by reversing the digits of the 2-digit
number.
Question :  What is the 2-digit number ?
Statement-1: The sum is divisible by 9.
Statement-2 : The sum is divisible by 2.

Which one of the following is correct in respect

~ of the question and the statements ?

(a) Statement-1 alone is sufficient to
answer the question

(b) Statement-2 alone is sufficient to
answer the question

(c) Both Statement-1 and Statement-2 are
sufficient to answer the question

(d) Both Statement-1 and Statement-2 are

not sufficient to answer the question

Consider the question and two statements
given below :

LCM of two numbers x and y is 481 where
X>y.
Question : What is the value of (3x - 2y) ?
Statement-1: y> 1.

Statement-2: HCF of x and y is 1.

Which one of the following is correct in respect
of the question and the statements ?

(a) Statement-1 alone is sufficient to
answer the question

(b) Statement-2 alone is sufficient to
answer the question

(c) Both Statement-1 and Statement-2 are
sufficient to answer the question

(d) Both Statement-1 and Statement-2 are

not sufficient to answer the question
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29. S fow e T oM Q) ol WRER AR 31, AR = 9b, 4b = 5, 6c = 7d 2, @ ji’a
577 : X" +y"), (x+y)H ?
T (xP + y"), (x +y) W AY 8 2 s e 2 2
FUT1: nTH G0 GEAT 2 |
| 27
FY72: nTh G0 I GEM R | @
g 3w % wed § foffed o @ b 43
HHAT AR R 7 27
(a) W H IR A F oI Faw w1 vata @ - 27
-g | . 43
(b) §¥ H I W F R Faet FU-2 gatE ) “%
2
() ¥ H I A % fAU FeM-1 3l wem.g,
! vt & |
(@ T F IW A & Y w1 o Fme, (32 k F A #AA wm E e f wew
CRRRIERR (k-3)x2-kx-1 1 H§ IRafas s
TGS TE R 7
80. 14 fau o e 3fk & FoEt w fyaw Fifvw
L. (a) k<-6
T Sfifore x 3t y @ areafas gEam § |
97 - ny:ﬂ%? (b) -6<k<2
P - x8y? < 0. ' () 2<k<6
HYT2 ; XB)'I'J{U. d k>86
W AR oAl % ged § fafafes § @
A TE 2 2
(@) ?Wﬂa%WWW'IWSS. Qﬁ," bc+ed=2bd IR a+c=2b %, A
| Freaforfm 1 & 2. 2
(b) W T IW A & AU Fa@ -2 At gl
2 ‘ (@) ab-cd=0
(c) W & IW A % o FeA-1 3k Fwm-2,
Zﬁ;ﬁmé (b) ac-bd=0
(d) T H I A F e w1 sk weA-g, (¢ ad-bec=0
2t yatey T §
. (d ad+bc=0
FOGT-T-EMT (12-A)
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29. Consider the question and two statements|81.
given below :
Question : Is (x™ + y?) divisible by (x + y) ?
Statement-1: n is a natural number.
Statement-2 : n is an even natural number.
Which one of the following is correct in respect
of the question and the statements ?
(a) Statement-1 alone is sufficient to
answer the question
(b) Statement-2 alone is sufficient to
answer the question ‘
(¢) Both Statement-1 and Statement-2 are
sufficient to answer the question 32.
(d) Both Statement-1 and Statement-2 are
not sufficient to answer the question
30. Consider the question and two statements
given below :
Let x and y be two real numbers.
Question : Isxy>07?
Statement-1: x8y? < 0.
Statement-2 : x9y10 <0,
Which one of the following is correct in respect
of the question and the statements ? 33.
(a) Statement-1 alone is sufficient to
answer the question
(b) Statement-2 alone is sufficient to
answer the question
(c) - Both Statement-1 and Statement-2 are
sufficient to answer the question
(d) Both Statement-1 and Statement-2 are
not sufficient to answer the question
FDGT-T-EMT (13-A)

If a = 3b, 4b = 5¢, 6¢c = 7d, then what is g ta

-a
equal to ?

27

(a) 4—3

43
27

27

() - m

43

d)y -
) 27

What are the values of k for which the
polynomial (k - 3)x2 - kx — 1 has neo real

linear factors ?

(a) k<-6
(b) -6<k<2
(@0 2<k<b
d) k>6

If be + ¢cd = 2bd and a + ¢ = 2b, then which

one of the following is correct ?

(a) ab-ed=0
(b} ac-bd=0
(¢) ad-be=0
(d ad+bec=0
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34. 2800 km i ITA #, forlt fawm 1 nfy @37,
THew & R0 FH E R | @] H IR 3@ |
3 T 100 km/hr 9 & T ot Iz W
e 30 frfe 7w | fme Y e sftem f
fomertt oft 2
(a) 700 km/hr
(b) 750 km/hr
{(c) 800 km/hr
(d) 900 km/hr

38,

35. Tfﬁx:b+c,y=c+a,z=a+b%,?ﬁ
(x +y +2)3 — 24xyz TFE® T F 9
(a) aS+b3+e3
(b) 2(@3+b3+cd)

(c) 8(ad+b%+ed)
. 39,
d) 394§ ¥ FE 7

36. UH A X M A ¥ o I F@1 2 3R
58U =i Y 3t T fheft gut Tue B @ =
TEFAE, HATd km R RR |3 A
@ femd wed & 1 X, u km/hr H altuq
I ¥ T & FTY, v km/hr 1 3ftEd 919 @
Tad 8 | Y @ 9 T & vedt X A 5w
TH! &M 2

ud 40,
(@) (u-v)
b ¥4
(u-v)
{(ud - vd)
(c) P
(@) (ud + vd)
(u+v)
FDGT-T-EMT (14-A)

af2 foreht s o e agpm 3 i T s
p & ofv ) e % a3 v g 5
& #19 F1 TR q B, T pt + 4p? Fhad TN
7

(a) 4q

(b) 8q

(c) 4q?

(d q2

afe
22
(a)
(b)
(¢) 136
(d)

30 km <o H X, Y i go ¥ 3 U arfis S
21 3R X J 9 R g W R, A oaw
Y8 26 FH AG R | Y ) o1 w4 R 2

X =2+2V2 8 xt+ 16x¢ F WA F

152
144

132

3 km/hr

(a)

(b) 4 km/hr
2

{C,) 45 km/hr
3

R T 10,000 W 4% A s T 4 I
YR R G T a9 & ahglg &4 C &,
@ fefafgr d a Fraad 2 2

(a) |
(b)
(© ¥ 200<C<T 400
(d)

Ce<T100
T <C < 200

C>F 400 -
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34. In a flight of 2800 km, an aircraft was slowed |37.
down due to bad weather. Its average speed
for the trip was reduced by 100 km/hr and
time of flight increased by 30 minutes. What
was the original average speed of the aircraft ?
(a) 700 kmvhr
(b) 750 km/hr
(¢) 800 km/hr
(d) 900 kmvhr
38.
35. If x=b+¢, y=c+a, z=a+b, then what is
(X +y + 2)3 - 24xyz equal to ?
(a) ad+b34+cd
(b) 2(ad+b3+cd)
() 8(ad+b3+¢d)
39.
(d) None of the above
36. A person X starts from a place A and another
person Y starts simultaneously from another
place B which is d km away from A. They walk
in the same direction. X walks at an average
speed of u km/hr and Y walks at an average
speed of v km/hr. How far will X have walked
before he overtakes Y ?
40.
ud
(a)
Y ow-w
b v
(u-v)
© (ud - vd)
(u-v)
) (ud + vd)
(u+v)
FOGT-T-EMT (15-A)

If p is the difference between a number and its
reciprocal and q is the difference between the
square of the same number and the square of
its reciprocal, then what is p* + 4p? equal to ?

{a) 4q
(b) 8q
(¢c) 4q°
d) q2

If x = 2 + 22 then what is the value of
x4+ 16x-47?

(a) 152
(b) 144
(c) 136
(d) 132

X takes 3 hours longer than Y to walk 30 km.

" If X doubles his speed, he takes 2 hours less

than Y. What is the speed of Y ?

(a) 3 km/hr
(b) 4 km/hr
(e) 4—3— km/hr
(d) 4% km/hr

If C is the compound interest on ¥ 10,000 for

one year at 4% per annum when compounded
quarterly, then which one of the following is

correct ?
(a) C<T100
by T100<C<T 200

() T200<C <7400

(d) C>7% 400
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3P 7 a1t 3 (02) ¥ ¥ Ry Refofda w A aa,
B ;

aﬁmﬁx2-25x+%+%+12=om
X
foam ifsT |

41. x-l%wﬁﬂqﬁﬁ%@mm%?

X

(a)

(b) 45

(e)
(d)

polen ™ pojco bo| =

sin? A + sin? B + sin2 C foruss sqax 2 ¢
(a)

2
5
b 2
{J4

p—

(c)

(d)

| o

FaH s
(a) 45cm

(b) 6cm

(¢ T75cm

(d) 15em

1 ; |
2. P+ S FEMRIRARGIRTR? | o oo b 00) 7o) & e Bl 7 e

X

(a) 6 ) FIY
b 82 fordt sfiet 1 e @ H e s feh g ()
9 H U 9156 B C T I 10 30° § | 3t Y

d =

¥t 33 T W (03) T F T AT T 46
e Fifog :
T g9 & i Ok By ABC wffer mm g,
foedht yom AB = 15 em, BC = 9 cm,
CA=12em# |

43. cos2A +c0s2B + cos? C fhus e & 2

3
(B] Z 47.
by 1
5
© =
¢ 7
d 2
FDGT-T-EMT (16-A)

wag ¥ 9ea H Fer 2H diew § | W f
fig P @ Wrg@ & 3hia & wlafde &1 s
BT OR |

PUFR FT R 2
(a) 30°
(b) 45°

(c) 60°

d) AT T & SR Fuifa 1@ fen
Hehal

PC foreh smt 2 7
(a) HHA
(b) +2H i

(¢ 3HH=
(d) 2HHR
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Consider the following for the next two (02) items
that follow :

Consider the equation

8B
X X

6x2 - 25x +

41. What is one of the possible values of x - 1 ?
X
1
(a) =
Yo
3
(b) =
2
() 2
@ 2
2
42. What is one of the possible values of x2 + iz ?
X
(a) 6
b 2
9
(c) 8
@ 82
9

Consider the following for the next three (03) items
that follow :

A triangle ABC with sides AB =15cm,
BC =9 cm, CA = 12 em is inscribed in a circle.

43, What is cosA + cos? B + cos? C equal to ?
(a) 3
4
(b) 1
(c) 3
4
(d 2
FOGT-T-EMT (17 -

44, Whatis sinZ A + sin?B + sin2 C equal to ?
(a) 2
5
b —
(b) 2
) 1
3
(d -
) 4
456. What is the radius of the circle ?
(a) 4-5cm
(b) 6ecm
(¢} 75cm
(d) 15¢em

Consider the following for the next two (02) items

that follow :
The angle of elevation of a cloud at C from a
point (P), H metres above the surface of a lake
is 30°. The height of the cloud from the surface
of the lake is 2H metres. Let 0 be the angle of
depression of the reflection of the cloud in the
lake from the point P.

46. What is the value of 6 ?
(a) 30°
(b) 45°
(c) 60°
(d) Cannot be determined due to
insuffictent data
47. What is PC equal to ?
(a) H metres
(b)  J2H metres
(c)  +3H metres
(d}) 2H metres
A)
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I IR T AT (03) ¥ F fow AEiofET W
)%EWW:

I T SRARAT Fed aTfer 4 T R

X 0 1 2 3 4 ]

f |46 | p q | 25|10 5

T SHETET 200 § 3§ F ATH 146 2 |

48. pEAHFME?
(@ 70
(b) 72
() 176

(d) 78

49, qHFI AR FTR?
(a) 32
(b) 34
() 36

(d 38

by 2
() 3

d) 4

FDGT-T-EMT _ (18-A)

51.

52.

2 2

aft tane = YL P . pcoco0oc B, @
p

sec 0 + cos 0 + 2 forae T B 2

2, .2
@ 221

Pq

2
b P
Pq

(p+qF

{c)
2pq

2
@ P9
Pq

qfe 116in 0 + 60 cos § =61; 0 <6 <90° %,
J660 (tan® + cotB) 1 I &1 3 2

(a) 61
(b) 612
(c) 122

d) 1222

Yo wErd aens (Wge oY IRA) 9w
15 Yonafl & Tt wnagye & Jafa €= T
fFft g =@ w2 2

(a) 05cot12°
(b cot 12°
(¢) O5tan12°

(d) tan12°
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Consider the following for the next three (03) items

that follow :

49,

FDGT-T-EMT

A frequency distribution table is given below :

X 0 1 2 3 4 5

f |46 | p | q | 25| 10] 5

Total frequency is 200 and mean of the
distribution is 1-46.

What is the value of p ?
(a) 70
(by 72
() 76

d) 78

What is the value of q ?
(a) 32
(b) 34
(c) 36

(d) 38

What is the median of the distribution ?
(a) 1
(b) 2
(e} 3

d) 4

51.

52.

53.

(19-A)

q® - p?

Iftan 6 = ; 0 < 0 <90° then what is

sec 6 + cos 0 + 2 equal to ?

2+q2

Pq

a) &

2
b P9
Pq

(p+ qu
2pq

2
@ P-9
Pq

If 11 sin® + 60 cos 0 = 61; 0 < & < 90°, then
what is the value of /660 (tan® + cot0) ?

(a) 61
(b) 6142
() 122
d) 122/2

What is the diameter of a circle inscribed in a
regular polygon of 15 sides with side length

unity ?

{a) 0-5cotl2°

. {b) cot12°

(e) 0-5tan 12°

(d) tan12°

https://lwww.pyqonline.com



I 1+s5inb tan® +sechH-1 1 1
54, IR x =. g o@ 2T 57. _ -
cos8. tan® —secd +1 cosec 0 —cot® sind X %’?ﬁ
TR ? ' @
2L s ww
) . cosec B +cotd®  sin® %’ T&}r
-X
T
(b} x 0<b< 9 27
() 2x (a) -x
2 1
(c) ;
55. fafifien w faer $ift @ 1
tan0 +sin®  secO+1 X
tanf —sin® - sech -1 %’
58. 2sin®0 + 2 cos® 6 — 3 sin? 8 — 3 cos? § FFESF
& 0<0< g 21 TR § ?
. . (a) -1
cos“ 0 -sin“H 2tan0
2. = S b 0
0520 +sinZ 6 tanZ0+1 ’
: (e} 1
TE 0<0< %%l d) 2
I § W P-AvHE-A w2 2 59. 3600 sec?§ + 121 cosec? 8 1 FH W T 2,
(a) *ad 1 aﬁow-:%‘%?
“(b) FadA
(b) 2 (@ 1320
(© 13K 23ml (b) 2401
d T@ 1,782 (¢ 3721
) (d) 5041
56, afy Sn8+cosh s mio<o<t gxl
sin® — cos0 2 4 1+sin6)2 050 2
. 60. -2 fros st
%,T‘PIMWWW%? [ cos 6 ] +[1+sin9] 2
3sinb -2 cosH
5 ?,Gﬁﬂczﬁc E%?
(a) — 2
5
(a) tan®
(b) 2 . (b) cot®
12
(c) 3 (¢) 2tan®
@ 3 (d) 2coto
FDGT-T-EMT (20-A)
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54, Ifx= 1+sinb , then what is tan0 + sec0 - 1 57. If 1 - .1 = X, then what is
cos® tan® - secO +1 cosec 0 - cot 0 sinf
' 1 1
equal to ? - 1 to,
cosec O + cot B sin® eqna Where
@ -x 0<b< 2
2
by x
a) -x
(c) 2x
(b) x
X
(d) 3 © 1
_ . X
' @ -2
565. Consider the following : X
tanf +sin® secO+1
tand —sin® _ secB-1’ 58. Whatis 2sin®0 + 2 cos50 — 3 sin40 - 3 cos*®
x equal to ?
where 0 <8< —.
2 (a) -1
,  0s?6-gin®0 _ 2tan0 b 0
' cos®0+sin?® tan?0+1 ) 1
where 0 <0 < % d)y 2
Which of the above is/are identities ? 59. What is the minimum value of
(a)  Onlyl 3600 sec? 0 + 121 cosec? 0, where 0 < 6 < T ?
(b) Only 2 2
(¢) Both1land2 (a) 1320
(d) Neither 1 nor?2 (b) 2401
(e) 3721
e, 1 mOtosO o here0<o<X 0% @ 5041
sin® - cosh 2 4
28in8 + 3 cosd
then what is the value of ——8M8M8M— ? . a2 2
3sinf - 2 cos® 60. What is | 1 smB] + cos.ﬁ -2 equal
) cosf 1+sin6
8
(a) s t.n,whereO{Bc:%?
by 2 ' (a) tan®
: (b) cotB
(c) E
5 (¢) 2tan
(dy 3 (d) 2cot8
FDGT-T-EMT (21-A)
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61. IR y 3 ; % d9 s M x R, difgs faft wagel semat

Fr=ferfea & 4 w0 7@ 2 2 4,7,10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50

(a) xy+xz-yz=0 %mmﬁﬁglx%ﬁﬁﬂmﬁﬁ
(b) xy+x2_—2yz=0 AFe! (320) & wreAs & for fopae dwifaa om
() xy+xz+yz=0 %.,

(d) xy+xz-4yz=0

: . . ' (a) %ad TF TH
62. 120 % wft Tl RS H1 A T4 R : A
@ 10 (b) ¥t 3 AR
(b) 11 (c) ohdd diF o=
© 12 d) v A=
d) 135

63. 50 ¥ W@ n WHI % U A=Y & famerl w
ITHA -10 B 3 46 & wifig 37 ol (66, IR vgeh 100 TW vAqol wemalt & wew M
foraret 1 aa 70 @ | W A oW w0 2, @ wgeh 100 fawm gAql demedt w1 aen

27 _ w29
(a) 485
(b) 490 @ M-1
(¢) 495 . by M
@ 500
) M+1

64. 4 foumewi Fomi & gl 1, 3 & W § &

3, Freffiaa aroh w0 frem Hif @ M+2

frre | TAR | gt  shen i .

" p” pos 67. 50 BT % ¥ 3TH 78-4 UM M | Wi 91 A
1 50 80 AT 9en f6 95 i e @ 59 wg fora wan e
11 50 40 3t 25 H Terd ¥ 52 g o T oW | @@
v X 50 Hrga iR T e § Sa R R 2

Ife @it 9 faaeEl & ol & fwq % 58
3 @ frerem.v & e o wen 333 9 (@) 004

(a) 38 (b) 008

(b) 40

(¢} 012
(c) 42
) 44 d) 018
FDGT-T-EMT (22-A)
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61. If x is the harmonic mean between y and z,
then which one of the following is correct ?
(a) xy+xz-yz=0
(b) xy+xz-2yz=0
() xy+xz+yz=0
(d xy+xz-4yz=0
62. What is the median of all possible factors of
120 ?
(a) 10
(by 11
(e) 12
(d) 135
63. The sum of deviations of a set of n values
measured from 50 is — 10 and the sum of
deviations of the values measured from 46 is
70. What is the mean of the values ?
(a) 485
(b)y 490
(c) 495
(d 500
64. Consider the following table in respect of
students of 4 schools who appeared in a test :
Number of | Average marks in
School students tﬁe test
I 60 60
II 50 80
111 50 40
IV X 50
If the average marks of the students of all four
schools are 58, then.how many students
appeared from School-IV ?
(a) 38
(b) 40
() 42
(d) 44
FDGT-T-EMT

67.

(23-A)

The data of different natural numbers
4,7,10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50

are in ascending order. How many possible
values are there for the median of the data for
various values of x ?

(a)  Only one value
(b)  Only two values
(¢)  Only three values

Five values

If M is the mean of the first 100 even natural
numbers, then what is the mean of the
first 100 odd natural numbers ?

(a} M-1
by M

() M+1
d M+2

Mean marks of 50 students were found to be
78:4, But later it was detected that 95 was
misread as 59 and 25 was misread as 52.
What is the difference between correct mean

and incorrect mean ?

(a) 004
(b) 0-08
() 0-12
(d) 018
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69.,
- T Y1 BC, CA, AB %! #9¥: D, E, F W ¥4

70,

FDGT-T-EMT

T T ABCH, £A=20, /B =/C =403
0, 4 8in20 + 2sin8 - 1 = 0 H T FEA 8 |
BC %1 AB & 3Fra 71 & 7

¥5 -1

5-1)
2

“5-1)
4

(a)

(b)

(c)

d 265 -1)

T fI9 ABC % oila o g Wien s & |

FA1 2 | £ EDF foras auen 2 9

(a) 90°-A
b 9o B*C
€  90°-2A

A
I
() ( 5 )

@ e el 2

mﬁgﬁ,wmﬁgw%wﬁw'

#3980 2 o W w1 e
qod wdt 98 i e L 8, @ Fefafes d @
EIERIKG IR

(@ 12L=29H
(b) 9L =25H
(0 7L=23H

(d) 5L=13H

3t 3R A @7 (03) ¥ F forw Aefiiyd w
faam #i5T

71.

72,

12 cm fasan ol 16 em =T a1 © TR
A9 I qE SR AR | O WS oo |
Fam e @ R e # R Ym R i aw
w7 I dani #t ol F R ol 2w um g
g R

i REee i & B

(a)
(b 6cm

5cm

{c) 65em
(d)

7 cm

ut frher IR (3leRwen) & w1 &dT § e
qrft == 2

(a) 288t mL
(b) 360 mL
(c) 48071 mL
(d) 500n mL

73, T & UNEE T &AwA w1 M & gEE

(24-A)

HABE o I R 7
(a) %

(b) g

(c) g

& 2
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68.

69.

70.

In a triangle ABC, £/A =28, /ZB=2C =40
and 0 satisfies 4 sin28 + 2 sin 6 — 1 = 0, What
is the ratio of BC to AB ?

@ 5 -1

W5-1
2

(5 -1)
4

(b)

(c)

@ 265-1)

A circle is inscribed in a triangle ABC. It
touches the sides BC, CA, AB at D, E, F
respectively. What is £ EDF equal to ?

(a) 90°-A

_(B+O

(b)  90°
2

(c) 90°-2A

A
d) 90°-|—
(d) [2]

The length of a room is % times its breadth
and breadth is % times its height. If H is the
height of the room and L is the lonéest rod
that'can be placed in the room, then which one

of the following is correct ?

(a) 12L=29H

“(b) 9L =25H

(¢) TL=23H

(d) 5L=13H

FDGT-T-EMT | (25

Consider the following for the next three (03) items
that follow :

A conical vessel of radius 12 cm and height
16 cm is filled with water. A sphere is lowered
into water and its size is such that it touches

the sides of the vessel and it is just immersed.

71. What is the radius of the sphere ?

(@) bScm
(b) 6cm
(¢) 65cm
(d Tem

72. How much water will remain in the vessel
after the overflow ?

(a) 288mmL
(b} - 360r mL
(¢) 480nmL
(d) 500x mL

73. What is the ratio of lateral surface area of the
vessel to the surface area of the sphere ?

(a) E
3

3
b el
(b) 7
(¢) é
3

(d 2

~A)
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31 I a1 g (02) I # o R A

#fre ;

fordlt g 1 1w i o S, @ F F W
90° T FIT S 2 |

T4, WY WS I HAB foha T & ?

12 1
(a} ?[E—E]
12 1
B lg-2
(b) 4(:: 2]
2
{c) l'r—[E—l]
4\ 2
Pin 1
d LrE_2
) 2[2 2]

75. T GE 1 SAGA a1 8 2

1% (3n

2zt

(54
%@w
(-9

76. TS ABC, A W gwaIviig ® 3R AD, BC W &9
2 |QﬁBD=7-50m3ﬂ'{ DC = 10cm%,?ﬁAD
oo s 2 2

(a) 5cm

(b) 52 em
() 543 em

(d 10cm

FDGT-T-EMT (26-A)

77'

78.

79.

80.

f9 ABC % TUR BC W & AD, BC %l DW
34 Y Sidesfda a8 a1 DB = 3CD 2 |
frafaf@m d a sRma@i 2 2

(a) 2(AB+AC)(AB - AC) = BC?

(b) 3 (AB + AC) (AB - AC) = 2 BC?

(¢) 4(AB+AC)(AB - AC) = 3 BC?

(d) 5(AB+AC)(AB - AC) =4 BC?

s ABC, C W wweIvfig ? 3t AC = V3 BC
# | £ ABC forush s 2 2

(a) 30°

(b) 45°

() 60°

(d) 175°

s ABCH, £ A = 60° % | AB? + AC? - BC?
foresk e @ 2

(a) AB.AC

(b) AB.BC

(¢) AC.BC

(d 2AB.AC

dfd & 99 T el B AW 3 om B | M Y
foemn smr @ ot 3od ar ¥ W R |
A T waE Ay Hiw R, A ar W =\
w32

(a) 03em

(b) 045c¢m

(¢) 06cm

(d) 075cm
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Consider the following for the next two (02) items|77. The perpendicular AD on the base BC of a

that follow : triangle ABC intersects BC at D so that
DB =3 CD. Which one of the following is
A chord of length ! of a circle makes an angle correct ?

° he circle.
90° at the centre of the circle @) 2 (AB+AC) {AB—AC}=B02

- 2
74, What is the area of the minor segment ? (b) 3(AB +AC) (AB-AC)=2BC

2 ) () 4(AB+AC)(AB- AC) = 3 BC?
(a) ——(n——]

2 2 (d) 5(AB + AC) (AB - AC) = 4 BC?
12 1
(h) —[n——] . . . .
4 2 78. Triangle ABC is right-angled at C and
, AC = 3 BC. What is £ ABC equal to ?
“(n
© ?[E _1} (@) 30°
2 (b) 45°
@ = [E - 1] .
2.2 2 (¢ 60°
d) 75°
75. What is the area of the major segment ?
(a) i[ﬁJrl] 79. In a triangle ABC, ZA = 60°. What is
412 AB? + AC2 - BCZ equal to ?
2
(b) f_(:}_?t_l] (a) AB.AC
412
(b) AB.BC
12 (3n
=2 AC.B
(e) 2 [ 2 + 1] (c) C.BC
, (d) 2AB.AC
I“(3n :
=2
@ ( > ]

80. The diameter of a sphere made of copper is
3 ¢cm, The sphere is melted and recast into a
wire. If the length of the wire is half metre,
then what is the diameter of the wire ?

76. Triangle ABC is right-angled at A and AD is
perpendicular to BC. If BD = 75cm and
DC = 10 cm, then what is AD equal to ?

@ 5em (a) 03cm

® 542 em (b) 045cm

(¢) 53 em (¢) O06cm

(d) 10cm + (d) 075¢cm
FDGT-T-EMT (27 -A)
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8l. UHh W i UK 30 cm & | THH YR H
AR TF G008 UF & W W TH I 0%
H @R | AR @ AF F oo, Ry
WF F A H 2—17 3 q vg & fomw
(m) A FaE w2
(a) 10em
(b) 12ecm
(¢) 18cm

85.
(d) 20em

82. iy I UH JWAHR A 24 cm T AN
18'cmaﬁ@%|3ﬁmﬁ%xcmﬂmﬂ
Wl am g R e s T A
gon fesm (afF@) T @ 2 ) IR fes
(afe) &1 T 640 ¥ cm R, A x F AW
TR
(a) 2 86.
(b) 3
() 4
@ 6

83. Hﬂ?ﬁﬁmx,y,z@m?ﬁm,m:
dard ? | 9 e AR 400 T cm IR g
WWS-ﬁO'ﬂlﬁcm 'a,iﬁr1+y'1+z*1
fred T R 2 o
(a) 17

20
w Y
40
7
(c) Tﬁ
9
@ 35
FDGT-T-EMT (28-A)

84, T gued (JfifEm) $i 3§ T Yol 29 em

)

3R 21 cm & | IR s W § o A
! ard 8.5 cm R | HUCE T &R 1 R 9
(a) 18751 em

227-5 9 cm

(¢) 3759 em

d) 4559 em

lﬁcm.wmﬁmﬁﬁﬁﬂw
128 gmRITARR A 14 em TH A
T fowh w8 It § | AR T R W

mw%?(h?.??)

(a) 48gm
(b} 49gm
() 50gm

(d 51gm

T GEEgYS F 8% 96 T em & AN THE
w fawol i d@ g 12 om R | TEQE W
TfmTe T # 2

(a) 36cem

(b) 40cm .

(c) 44cm

(d) 48cm

10 cm Bam A&t % 99 % simia uw ausfig

e ABC dffer 9 @ | 91 AC W @R T
ﬂﬁdﬁaﬁmscmglﬂﬁAB:xcmaﬂ'{

BC:ycm%,?ﬁxyﬁT'ﬂ'HiﬁlT%?

(a) 60
(b) 80
(e) 120
(d) 160
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81. The height of a cone is 30 cm. A small cone is
cut off at the top by a plane parallel to its
base. If its volume is % of the volume of the
given cone, then what is the height of the
frustum of the cone ?

(a) 10cm
(by 12em
(c) 18cm
(d) 20cm

82. A rectangular metal sheet is of length 24 ¢cm
and breadth 18 em. From each of its corners a
square of side x e¢m is cut off and an open
box is made of the remaining sheet. If the
volume of the box is 640 cubic cm, then what
is the value of x ? https://www.pygonline.com
(a) 2
(by 3
(c) 4
(d 6

83. Let x, y, z be the length, breadth, height of a
cuboid. If its volume is 400 cubic cm and
total surface area is 340 square cm, then what
is x1+yl+zlequalto?

17
{a) —
20 .
17
(by —
40
7
() —
10
9
d =
10
FDGT-T-EMT

85i

86.

87.

(29-A)

Two parallel sides of a trapezium are 29 ¢cm
and 21 cm. Non-parallel sides are equal and
each is of length 85 cm. What is the area of
the trapezium ?

(a) 187-5 square cm

(b) 227-5 square ¢cm

(c) 375 square cm

(d) 455 square cm

A square copper plate of side 16 cm weighs
128 gm. A circular disc of diameter 14 cm is

cut off from the plate. What is the weight of

the remaining part ? (n = % )

(a) 48gm
(b) 49gm
(¢) 50gm
(d) 51gm

The area of a rhombus is 96 square cm and
one of its diagonals is of length 12 cm. What is
the perimeter of the rhombus ?

(a) 36cm
(b) 40cm
() 44cm
(d) 48cm

" A right-angled triangle ABC is inscribed in a

circle of radius 10 cm. The altitude drawn to
the hypotenuse AC is of length 8 cm. If.
AB = x cm and BC = y cm, then what is the

value of xy ?

(a) 60
(b)y 80
() 120
(d) 160
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Two circles touch externally. The sum of their
areas is 89m square cm and the distance
between their centres is 13 cm. What is the
difference in their radii ?

(a) 2cm

(b) 25em

(c) 3em

(d 35cm

A square and a rectangle have same

They
1 square cm. The length of the rectangle

perimeter. differ in areas by

exceeds its breadth by
(a) lcm

(b) 2cm
() 3cm

(d) 4em

Two rectangles are of same area equal to
480 square cm. They differ in lengths by 6 cm
and breadths by 4 cm. What is the difference
in their perimeters ?

(a) 2cm

4 cm

(b)

(¢) 6Gem

(dd 10cm

91,

(31-A)

A closed box is built of wood of uniform
thickness. Its external dimensions are 12 c¢m,
10 em and 8 cm. If the inner surface area is
376 square cm, then what is the thickness of
the wood ?

(a 05cm
(b} lem
(¢) 15em
(d) |

2cem

X, Y and Z are three equilateral triangles. The
sum of the areas of X and Y is equal to the
area of Z. If the side lengths of X and Y are
6 cm and 8 cm respectively, then what is the
side length of Z ?

(a) 9cm
(b) 95cem
() 10cm
(d) 10-5em

What is the time taken by a person to cover

one round of a circular park of diameter 210 m

if he walks at a speed of 6 kmy/hr ? (x = % )

(a) 6'6 minutes
(b) 55 minutes
(c) 44 minutes

(d) 3:3 minutes
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In an equilateral triangle of side 2J3 cm, a

circle is inscribed touching the sides. What is
the area of the remaining portion of the
triangle ?

(a) (243 -m square cm

(b)  (3J3 - ) square cm

(¢) (443 -2nm) square em

d) (43 -m square cm

A triangle h:as side lengths x ¢cm, x + 13 cm

and x + 26 cm. If its area is 126 square cm,
then what is the value of x ?

(a) 18
(by 17
() 16
(d 15
96. ABCD is a parallelogram. A circle through A,
B and C intersects CD (produced) at E. Which
of the following is/are correct ?
1. AE=AD
2. CD=DE
Select the correct answer using the code given
below :
(a) Onlyl
(b) Only2
(¢) Both1and?2
(d) Neither 1 nor 2
FDGT-T-EMT

97.

98.

(33-A)

Consider the following statements :

1.  In an equilateral triangle, the centroid

and centre of circumcirele coincide.

2.  Angle bisectors of a cyclic quadrilateral

form another cyclic quadrilateral.

3. Every cyclic parallelogram is a

rectangle.

Which of the statements given above are

correct ?

(a) Only1and?2
(b) Only2and3
(¢) Onlyland3

(d) 1,2and3

ABCD is a trapezium in which AB is parallel
to DC. The vertices A, B, C and D pass
through a circle. Which of the following are

correct ?

1. AD=BC

2. ZA+ZC=180°
3. <ZA+4£D=180°

Select the correct answer using the code éiven

below :

(a) Only1land?2
(b) Only2and 3
(¢ Onlyland3

(d 1,2and3
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99. ABCD is a cyclic quadrilateral. AB and DC

when produced, meet in E. Which of the
following statements is/are correct ?

1. A EBC is similar to A EAD.
2. £ CBE + 2 DAE = 180°,

Select the correct answer using the code given

below :
(a) Onlyl
(b). Only2

(c) Both1land?2

(d) Neither 1 nor 2

(35-A)

100. In a triangle ABC, DE is a line segment which

intersects AB at D and AC at E such that DE
is parallel to BC. The line segment divides the

triangle in two parts of equal area. What is

EEequa’:llt:.)?

AB

(a) _@
-2

(b) .‘{_E"_l
V2
J3-1

{¢) ———
NE!

d V2
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